		Replacement windows	Replacement doors	Replacement porch or shop front with roller shutter	Replacement roof	Lost or replacement boundary	Rendered or painted over brick	Satellite dish or poor signage
Area 1 (Co	ntained 1	45 properties)					
Yardley Road	Fully changed	25 (80.65%)	5 (16.13%)	25 (80.65%)	11 (35.48%)	28 (90.32%)	4 (12.90%)	23 (74.19%)
	Partially changed	2 (6.45%)	0	0	0	0	0	0
Elmdon Road	Fully changed	29 (82.86%)	21 (60%)	12 (34.29%)	4 (11.43%)	20 (57.14%)	5 (14.29%)	11 (31.43%)
	Partially changed	1 (2.86%)	0	0	1 (2.86%)	3 (8.57%0	1 (2.86%0	0
Malvern Road	Fully changed	14 (50%)	4 (14.2950	2 (7.14%)	2 (7.145)	10 (35.71%)	0	3 (10.7150
	Partially changed	2 (7.14%)	0	0	0	2 (7.14%)	0	0
The Avenue	Fully changed	28 (82.35%)	30 (88.24%)	7 (20.59%)	11 (32.35%)	20 (58.82%)	14 (41.18%)	13 (38.24%)
	Partially	2 (5.88%)	0	0	0	1 (2.94%)	0	0

	changed							
Roberts Road	Fully changed	11 (100%)	10 (90.91%)	0	1 (9.0950	6 (54.55%)	1 (9.09%)	0
	Partially changed	0	0	0	0	0	0	0
Total	Fully changed	107 (73.8%)	70 (48.3%)	46 (31.7%)	29 (20%)	84 (57.9%)	24 (16.5%)	50 (34.5%)
	Partially changed	7 (5%)	0	0	1 (0.7%)	6 (4.1%)	1 (0.7%)	0
Area 2 (Co	ntains 55	properties)						
Sherbourne Road	Fully changed	23 (76.67%)	11 (36.67%)	1 (3.33%)	6 (20%)	11 (36.6750	1 (3.335)	3 (10%)
	Partially changed	3 (10%)	0	0	2 (6.67%)	2 (6.67%)	1 (3.33%)	0
Sherbourne Drive	Fully changed	1 (33.33%)	1 (33.33%)	1 (33.33%)	0	3 (100%)	3 (100%)	1 (33.33%)
	Partially changed	0	0	0	0	0	0	0
Dudley Park Road	Fully changed	5 (50%)	3 (30%)	3 (30%)	1 (10%)	6 (60%)	0	2 (20%)

	Partially changed	2 (20%)	0	0	0	2 (20%)	1 (10%)	0
Station Road	Fully changed	7 (70%)	2 (20%)	1 (10%)	2 (20%)	7 (70%)	0	0
	Partially changed	0	0	0	0	1 (10%)	0	0
Oxford Road	Fully changed	2 (100%)	0	0	0	2 (100%)	0	0
	Partially changed	0	0	0	0	0	0	0
Total	Fully changed	38 (69%)	17 (30.1%)	6 (10.9%)	9 (16.4%)	29 (52.7%)	4 (7.3%)	6 (10.9%)
	Partially changed	3 (5.45%)	0	0	2 (3.6%)	5 (9%)	2 (3.6%)	0
Area 3 (Co	ntains 103	3 properties)						
Arden Road	Fully changed	35 (56.45%)	15 (24.19%)	5 (8.06%)	7 (11.29%)	33 (53.23%)	8 (12.90%)	5 (98.06%)
	Partially changed	8 (12.90%)	1 (1.61%)	0	10 (16.13%)	17 (27.42%)	2 (3.23%)	0
Greswolde Park Road	Fully changed	8 (53.33%)	5 (33.33%)	1 (6.67%)	1 (6.67%)	8 (53.33%)	2 (13.33%)	1 (6.67%)

	Partially	0	2 (13.33%)	0	0	5 (33.33%)	1 (6.66%)	0
	changed							
Flint Green	Fully	21 (80.77%)	10 (38.46%)	4 (15.38%)	8 (30.77%)	6 (23.08)	2 (7.69%)	7 (26.92%)
Road	changed							
	Partially	0	1 (3.85%)	0	0	8 (30.77%)	0	0
	changed							
Total	Fully	64 (62.1%)	30 (29.1%)	10 (9.7%)	16 (15.5%)	47 (45.6%)	12 (11.7%)	13 (12.6%)
	changed							
	Partially	8 (7.8%)	4 (3.9%)	0	10 (9.7%)	30 (29.1%)	4 (3.9%)	0
	changed							
TOTAL	Fully	202 (68.9%)	117 (38.6%)	62 (20.4%)	54 (17.8%)	160 (52.8%)	40 (13.2%)	69 (22.8%)
<i>(</i>	changed							
(properties								
303)	Partially	18 (6%)	4 (1.3%)	0	13 (4.3%)	41 (13.5%)	7 (2.3%)	0
	changed							